C:# Multiplication Word Problems Name:

Solve each problem. Answers
1) A movie theater hasfifty-eight rows of seats. If each row has ninety seatsin it, how many
seats does the theater have total ? 1
2.
2) A furniture store was selling new chairs for twenty-one dollars each. If a company bought
sixty-two chairs, how much money would they end up spending?
3.

3) Jerry was collecting cans for recycling. In amonth he had collected thirty-eight bags with || 4.
thirteen cans inside each bag. How many cans did he have total ?

5.
4) A library checks out thirty-six books each day. How many books would they have checked
out after fifty-four days? 6.
7.
5) Atthecarnival there are thirty students selling tickets. If each student sells eighty-four
tickets, how many tickets would be sold all together?
8.

6) Lukewasbuilding aLEGO tower. He built it sixty-seven storiestall with fifty-six LEGOs || o.
on each story. How many LEGOs did he use total ?

10.

7) A delivery driver made exactly sixty-four stops each day. After sixty days, how many
stops would he have made total ? 11.
12.

8) Carol was making necklaces for her friends. She had eighty-one friends who wanted a
necklace and each necklace took thirty-two beads. How many bead would she need total ?

9) Vanessa has seventy-one albums of photos uploaded to facebook. If each album has
eighty-three picsin it, how many pics does she have total ?

10) Tom was helping his mom plant vegetables in the garden. Together they planted fifty-one
rows of vegetables with forty-four seeds in each row. How many seeds did they plant
total ?

11) Larry'sLawn Care charges ninety-three bucks to mow a customer's lawn for ayear. If they
have sixteen customers how much money will they make?

12) An orchard owner was counting the number of apples he had total. Each of his eighty-
seven trees had thirty-seven applesin it. How many apples did he have total?
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Ch Multiplication Word Problems Name: Answer Key

Solve each problem. Answers
1) A movie theater hasfifty-eight rows of seats. If each row has ninety seatsin it, how many
seats does the theater have total ? 1 5,220
2. 1,302

2) A furniture store was selling new chairs for twenty-one dollars each. If a company bought
sixty-two chairs, how much money would they end up spending?

3. 494
3) Jerry was collecting cans for recycling. In amonth he had collected thirty-eight bags with || 4. 1,944
thirteen cans inside each bag. How many cans did he have total ?
5, 2,520
4) A library checks out thirty-six books each day. How many books would they have checked
out after fifty-four days? 6. 3,752
7. 3,840
5) Atthecarnival there are thirty students selling tickets. If each student sells eighty-four
tickets, how many tickets would be sold all together? . 2 592
6) Lukewas building aLEGO tower. He built it sixty-seven storiestall with fifty-six LEGOs || o. 5,893
on each story. How many LEGOs did he use total ?
10. 21244
7) A delivery driver made exactly sixty-four stops each day. After sixty days, how many
stops would he have made total ? 11. 1,488
2 3,219

8) Carol was making necklaces for her friends. She had eighty-one friends who wanted a
necklace and each necklace took thirty-two beads. How many bead would she need total ?

9) Vanessa has seventy-one albums of photos uploaded to facebook. If each album has
eighty-three picsin it, how many pics does she have total ?

10) Tom was helping his mom plant vegetables in the garden. Together they planted fifty-one
rows of vegetables with forty-four seeds in each row. How many seeds did they plant
total ?

11) Larry'sLawn Care charges ninety-three bucks to mow a customer's lawn for ayear. If they
have sixteen customers how much money will they make?

12) An orchard owner was counting the number of apples he had total. Each of his eighty-
seven trees had thirty-seven applesin it. How many apples did he have total?
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